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TR K4
ONHi(g) = No(g) + 3Hx(g) )
(1-a) (1/2)a (32)a ARt +a)
I {(1-a)/(1+a)} P (12)a/(1+ a) -P (3/2)a/(1+ a) P (&EE P LT5)

K= (Px2) (Pin)’/ (Pais)’ = [{(172)a/(1+ @)} (P/ POI[{(3/2)a/(1+ @)} (P/ PO)Y / [{(1- a)/(1+ @)} (P/ PP
=(27/16) a* (P/ PO {(1-a)* (1+ a)*}y P=P°=1.00bar 72D TP/P°=1 L7=hN>7TK=27a"/16(1- a*)

xa=495/500=10.990,x8=1—-x4=0.010 L7272 7T na=772.2/78 = 9.90 mol
P 2 \Z ng = na/xa Xxg=0.100 mol 57 f 1% 10.4 g/0.100 mol = 104 g/mol

(1)
dG=VdP-SdT £V, {RE—ETIG=VdP WZIZAG=JdG=J VdP=nRT | (1/P)dP
A G =nRT In(P,/P1) = 1X8.31 X420 X1n(3.03/1.01) = 3834 = 3.83 kJ

(2)
BENEINEELRNE WD Z 1L, ENCE > TRENED L RN & &R,
JdG={vdP=V§ dP=VAP=2770/0.923 (cm®*) X (3.03 — 1.01) (bar)
=3001X10"°(m*) x2.02X10° (N-m2) =606 J



